
2-3
NO PART NO PART NAME QT SOURCE NOTE/COMMENTS CAST

1 ZZ000 24010 WIRE HARNESS (MAIN) 1 TOMITA
1 ZZ000 24012 WIRE HARNESS (FRONT) 1 TOMITA
1 ZZ000 24015 WIRE HARNESS (REAR) 1 TOMITA
1 ZZ000 24076 WIRE HARNESS (ENGINE EARTH) 1 TOMITA
1 ZZ000 24080 WIRE HARNESS (BATTERY EARTH) 1 TOMITA
1 ZZ000 24110 WIRE HARNESS (BATTERY +) 1 TOMITA
1 ZZ000 24120 WIRE HARNESS (R/L CABLES) 1 TOMITA
2 53837 BATTERY 1 ROBINSONS
3 1583438 WASHER BOTTLE 1 DALTON POWER
3a 6017716 WASHER BOTTLE CAP 1 DALTON POWER
3b 7003177 WASHER PUMP 1 DALTON POWER
3c 613876 WASHER PUMP SEAL 2 DALTON POWER
4 6747266 WASHER NOZZLE 1 DALTON POWER
6 82439 HEAD LAMP 180(CIBIE) 2 LEWISHAM AUTO E
7 NA01-51-033A RING 2 TOMITA/MAZDA
8 NA01-51-032 HEADLAMP CASE R/H 1 TOMITA/MAZDA
9 NA01-51-034 HEADLAMP CASE L/H 1 TOMITA/MAZDA
10 26030-95N BASE H/L R/H 1 GRISTON
11 A065-51-060B FRONT TURN LAMP R/H 1 TOMITA/MAZDA
12 A065-51-070B FRONT TURN LAMP L/H 1 TOMITA/MAZDA
13 26160-41B00 SIDE TURN LAMP 2 TOMITA/NISSAN
14 85512 STOP/TAIL LAMP L/H 1 LEWISHAM AUTO E
15 85513 STOP/TAIL LAMP R/H 1 LEWISHAM AUTO E
16 85514 RR TURN LAMP (INDICATOR /REVERSING) 2 LEWISHAM AUTO E
18 26560-35B00 REAR REFLECTOR 2 TOMITA/NISSAN
19 26510-50J00 LAMP LICENCE 2 TOMITA/NISSAN
20 25320-75A00 STOP LAMP SWITCH 1 TOMITA/NISSAN
21 21595-73L05 FAN SWITCH 1 TOMITA/NISSAN
22 3225-10050 WASHER HOSE φ3.2 1 FELL ARTHUR BENNETT
23 BS4/16 BOLT ST4.2 L:16 (SELF TAPPING SCREW) 6 INDFAST
24 BCR5/65 BOLT M5 X 0.8 L:65 (X" REC POZI PAN ZINC)"6 INDFAST
25 BB6/16S BOLT M6 X 1 L:16 (BUTTON HEAD)(SUS) 12 INDFAST
26 NL5 LOCK NUT M5 X 0.8 18 INDFAST

ISSUE NO:-3 24TH FEBRUARY 1997

ELECTRICAL GROUP (LAMP, HARNESS)



2-3
NO PART NO PART NAME QT SOURCE NOTE/COMMENTS CAST

27 W6 WASHER M6 12 INDFAST
28 V479030 HORN 1 LEWISHAM AUTO E
29 NS5S NUTSERT(RIV NUT)M5 6 INDFAST
30 26031-95N BASE H/L L/H 1 GRISTON
31 B5/20 BOLT M5 X 0.8 L:20(CAP SCREW) 2 INDFAST
32 PRA6 CLIP (STICKY) 3 INDFAST
33 3716-125S GROMMET 2 STANDARD RUBBER
34 CT360 CABLE TIE 15 PANKS
35 24010-95N BRKT, FUSE BOX 1 GRISTON
36 NL6 LOCK NUT M6 X 1 2 INDFAST
37 48834-20001 RELAY (BROWN) 3 TOMITA/NISSAN
38 48834-58010 RELAY (BLUE) 7 TOMITA/NISSAN
39 48834-00002 RELAY (BLACK) 5 TOMITA/NISSAN
40 25630-79960 HORN RELAY (BLACK 3 PIN) 1 TOMITA/NlSSAN
41 466332-0004 FLASHER UNIT (BLACK) 1 TOMITA/NISSAN
42 455007 SPRING 6 SPRINGMASTERS
43 24020-95N LAMP COVER 4 TROSLEY
44 NL5 LOCK NUT M5 8 INDFAST
45 WL5P WASHER M5 (PENNY WASHER) 8 INDFAST
46 99011-64010 CLIP 19 TOMITA

ISSUE NO:-3 24TH FEBRUARY 1997

ELECTRICAL GROU


